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Why the Interest?
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The Arrow Problem
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Achilles and the Tortoise

 There Is a race between a tortoise and the legendary hero
Achilles.

e The tortoise gets a head start, then the race begins.

By the time Achilles gets to where the tortoise began, the tortoise
will have gone some distance, and still be ahead.

e Again, by the time Achilles gets to the new distance of the
tortoise, 1t will have moved some small distance further.

« This repeats infinitely, and leads to Achilles never catching the
tortoise, as it will always have moved slightly further when
Achilles reaches its previous spot.




Achilles Solution: Limits
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Achilles Solution Part Il
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The Dichotomy
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